317

18-19

20-22

334



N~ w0 N

18-19
20-21
22-23
24-25

0-2,000

2,001-4,000
4,001-6,000
6,001-8,000

(20
20-21 (548

(

28.8)

24-25

67
8
%
93

28
39

286

201
233
288
218

183
548
263
06

189
68.2
17
12

85.6
144

65

06)



2,001-4,000 ( 68.2)
0-2,000 ( 18.9)
6,001-8,000 ( 1.2)

( 85.6)
14.4)

66



(X =43)

( X=409)

4.44
4.32
4.09

431

S.D.
.29

37

.26

( X=43))

(X = 444

67



10.

11

4.87

4.60

4.59

4.57

4.56

4.55

4.37

4.35

4.35

4.30

371

4.44

74

.86

113

128

101

134

68



69

( X =444

( X =4.87)

( X = 4.60)

( X =3.71)



10.

11.

4.82

4.77

4.69

4.66

4.65

4.63

4.59

4.57

4.54

451

4.49

4.40

SD.

.52

.69

.60

.76

.67

101

10



14.

16.

17.

19.

20.

21.

22.

( X=43)

( X=48)

Hot line

4.39

4.27

4.22

4.13

3.93

3.88

3.49

3.48

3.22

4.32

S.D.

.87

1.09

114

105

1.04

125

( X=48)

i



( X

( X =322

4.09)

Hot line

4.78

4.57

4.52

4.29

3.86

3.70

293

4.09

( X =4.78)

S.D.

.62

.70

.97

37

( X =457)

12



A owo N P

( X =2.93)

( X =253)

( X =2.48)

2.53
248

2.50

13

S.D.

77

57

57
( X = 2.50)
X S.D.
373 101
243 108
238 117
207 106
205 108
2.53 77



( X =2.43)

( X =2.05)

10.

8
( X =373
!
|
1
!
9
( X =357)
( X =3.26)

( X =153)

( X =253)
X S.D.
3.57 9%
326 103
323 100
2.86 98
2.52 9
2.22 97
1.98 89
1.97 89
1.6 3
153 84
2.48 57
( X =2.48)

14



10

(% = 40

( X =3.29)

Cx*E20)

405
3.29
283
2.56
3.29

SD.
19
100
105
8
.19

15

( X = 3.29)



10.

11

4.41

3.98

SD.

15

.86

82

83

111

1.06

1.11

1.22

1.30

1.28

16



1)
12.
11
(X =4.05)
(X = 457)

(X = 3.61)

SD.

(

1.32

19

X

4.46)

1



X SD.

1 3.74 1.11
2 3.69 1.21
3 3.63 1.21
4. 3.48 1.28
5 2.96 1.24
6 2.25 1.28
3.29 1.00

12
( X =329
( X=374)

(X = 369)

| X =2.25)



13

(X =254)

13

28

( X =307

19

132

1.34

111
1.46
1.33

1.15

1.05

(X =283)

(X =3.11)



i

14

2.71

1.69

1.65

1.63

S.D.

1.22

1.37

1.32

1.34

1.25

1.03

1.00

.89

80

( X = 256)



( x

1.63)

15

(

X

15

3.86)

(

X

(

X

= 3.53)

3.80)

(

S.D.

63
57

.50

X = 3.40)

X

8l

3.56)



X S.D.
4.71 .16
4.57 83
4.45 .80
4.44 82
4.20 1.19
3.64 1.06
3.43 153
3.30 1.07
2.86 1.30
2.38 1.56
3.80 63
16
( X =3.80)
(X =471

( X =457)

(X =2.38)



10.
11.

12,
13,

14,
15.

17

4.36
432

4.32

423

3.99

3.50

341

3.39

3.38

321

3.13

2.96
281

2.55
2.51

SD.

83
95

85

96

1.34

111

1.16

107

118

119

123

1.25
11

122
99

83



16.

()

17

( X =436)
(X = 43)

X1

2.40

340

84

SD.
1.04

ol

(X = 340)

( X =240)
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N~ oW N

18

47
58
19
65
249

217

32

249

14.07
17.37
23.65
19.46
14.55

64.97

9.58

14.95

20
20
17
28
85

69

16

85

85

C X2 p-alue

599
5.99
5.09
8.38
2545 119 4781
20.66
419

2545 (074 1837

( 74.55)

05

189

175
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19

05 (r=.146,230,-173

224

097
-079
011
037
-030
146
230
173
224

(n

86

p-vallC
01
151
840
502
585
007
000
001
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f
(Correlation Matrix)
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20

05

-127

05 (r = -.143

146

230,.173,.224

05 (r
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224
256
295
320

341

359

(R2 change)

R2  R2change
047
060
079

050

066

087

102

116

129

092

103

113

F
17.589
11.602
10518
9.389
8.621

8.058

P - value
000
000
000
000
000

000



8.7

21 1
050
5
2
060
6.6
3
087
05
{
4
102
05
{
92
5
116
05

90

05
066
05
!I
b
079
79
092
102 {
103



6
129
3
11.3
22
!
Constant
R=.359 R2= 129
22
Beta
(Beta = .
-.118)

91

116
103
3
113 05
129
B SEB Beta t p-value
336 090 206 3735 000
1621 436 204 3718 000
-3.637 1566 125 232 021
6.912 023 117 3.055 002
- 376 147 142 2557 LN
- 887 A07 118 2180 030
127448 10.083 12.640 000
F=8.058 SEal= 9.6099 p-value = .000
(Beta)
(Beta = .2006)
204) 3 Beta (Beta =



) +6.912 (

+ .17 (

)-118(

) - 887

) + 204 (

3)

) + 1621 (
3)
) - 125

) \

) - 3697 |

142

= 107448 + 33 (

) - 376 (

= 206

92
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